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REEM MEEH MEE® MEEH BN MEEH AEEN MEEH
#hit AR gri: BMAKE g3 R HE ol [BFH®); &t i
EHEEEH AR 742 858 1150 634 30 90 6 531 u*f 4,040 | #
EERUEBHEH 232 472 683 507 19 27 1 295| 387 2,236 |
EERUE WM 11,961 7629 11,912 15,150 140 395 3 18,289 e 65479 (8
EEQMEEH 05 0.0 22 03 00 0.0 00 50 ok, 7.9 |kt
BERNE TR 00 20 20 0.0 00 89.0 00 180 ki 111.0 [km
JKEERIE TR 28 85 83 33 3 46 1 16 51 295 |#
Il ot 189 256 54 45 1 63 0 54 ok 662 |
BEEH 00 0.0 15.1 1.3 00 00 00 0.0 ok 26.4 [kit
I8 PR 2152 1,2806 4717 3759 583 7,554.4 40 3527 ks 103188 [km
1|8 (GNSS)./ TRt 8 1 16 10 7 0 0 0 2 06} 36 |#
I8 (GNSS)./ 8 2 17 18 14 0 0 0 4 Hhk| 55 |
i) & (GNSS)./ EiE 00 0.0 00 0.0 00 00 00 00 ok, 0.0 [kt
K#E8IE (GNSS). BE i 0.0 0.0 1.9 0.0 0.0 00 0.0 00 ks 1.9 [km
HIBEE (BER) BHER 32 14 73 8 3 1 0 128 45 259 | ¥
IR (BER) /R 239 74 182 63 30 4 0 4,695 L 5287 | &
HIBRE (BER) /EH 00 0.0 00 0.0 00 00 00 00 ok, 0.0 [kt
HIBRE (BER) I 00 0.0 07 0.0 00 0.0 00 0.0 ks 0.7 [km
IRRIE OKE) BHHH 2 3 2 0 0 3 0 1 02! "4
HIBEEOKE) /R 1 0 2 0 0 4 0 1 ok 8=
18R E OKE) /EiK 00 00 00 00 00 00 00 00 ok, 0.0 [kt
1888 OKE) B5E 1.0 17 86 0.0 00 00 0.0 0.0 ks 113 [kn
TR & (MIER R RER) & 3 21 85 7 7 1 3 0 5 33 193
TR B (BT RER) B 221 68 149 18 o1 o1 00 08 ok, 465 [kit
iR B (BB RAER) BB 00 0.0 416.3 0.0 00 00 00 0.0 *hk| 416.3 |km
i EL—HRIE B 0 1 6 0 0 0 0 0 01 7|4
i EL—YRE S EH 00 0.1 09 0.0 00 00 00 00 Hhk! 1.0 |k
hEL—FRIE B 00 00 100 00 00 00 00 00| ok 10.0 [km
MMS J8 H 4 0 2 1 144 1 0 [} 0 2 261 150 [#
MMS.~ EH 00 00 496.0 00 00 00 00 [ 496.0 ki
MMS.~ Bk 10535 100 13.996.4 43 00 00 00 2520 | sl 15,3162 |km
UVAVERHE /R 0 1 6 0 0 0 0 0 XN 7|4
UAVERHE /B 00 02 13 00 00 00 00 0.0 ok 1.5 [kt
UAVEHAIE Bk 00 0.0 00 0.0 00 0.0 00 00 ks 0.0 [km
E/UORETBHER 0 0 0 0 0 0 0 0 00! o[#
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M/ T’ 137.4 675 (] 41 00 00 00 346 | ! 2437 ki
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AEE/ HEE/ HEE/ HEE/ HEE/ HEE/ HEE/ HEBE/
BIEIELET FHRXSH &R B R B BHKE XE B i Z Dt EEH%) &it BT
EESAEXT 18 fE 4 19 22 24 2 1 0 15 25 87 [#
HESBEXT |1 =44 6 195 40 68 8 0 0 23 Hokok 340 =
1#& R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 Hokok 0.0 [k
18 izt 0.0 0.0 0.0 0.0 0.0 89.0 0.0 0.0 Aok 89.0 [km
2%k RS 90 292 411 328 15 8 1 17| 362 1,262 |
2%k R 359 1,155 1,351 1,489 62 23 3 472 ook 4914 | &
2%k R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 Kook 0.0 [k
28 izt 0.0 20 0.0 0.0 0.0 0.0 0.0 0.0 ok 2.0 [km
3k R 125 173 311 278 8 8 0 193 315 1,096 |
3k R 734 860 1,102 2,388 38 24 0 1,448 Hokok 6,594 s
3k R 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 sHokok 2.0 [k
3k fiizk:i3 0.0 0.0 0.7 0.0 0.0 0.0 0.0 18.0 Hhok 18.7 [km
48R RHHH 148 198 257 169 5 17 0 178 | 279 972 |4
4% =t 11,098 5,493 9,483 11,268 62 352 0 19,420 ok 57,176 | &
41k i 0.5 0.0 0.2 03 0.0 0.0 0.0 1.7 Hokok 2.7 |k
4R iz 0.0 0.0 2.0 0.0 0.0 0.0 0.0 0.0 ok 2.0 [km
O [BHER 3 0 16 0 0 0 0 47 1.9 66 ¥
it (R 3 0 118 0 0 0 0 1,621 Hokok 1,742 | &
0t |EHE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33 Hohk 3.3 |k
it [EEEE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 Hokok 0.0 |km
B GRS 370 682 1,017 799 30 34 1 550 | 100.0 3,483 |
i (%) 10.6 19.6 29.2 229 0.9 1.0 0.0 15.8 Hokok 100.0 | %
&t 12,200 7,703 12,094 15,213 170 399 3 22,984 Hokok 70,766 | A
B i 0.5 0.0 22 0.3 0.0 0.0 0.0 5.0 ok 7.9 |kni
i i hizt 3 0.0 2.0 2.8 0.0 0.0 89.0 0.0 18.0 xokk 111.8 |km
JKEERIE X2 1#& BHEEH 0 1 2 0 1 37 0 5 13.0 46 |44
TKEER B X2 1#& =214 0 0 2 0 1 65 0 21 Kook 89 [
JKEERE 2 14k izt 0.0 17.4 9.6 0.0 0.0 6,949.9 0.0 254.6 Hokok 7,231.5 [km
TKEER 8 32 2%k [EEREE"T 1 21 3 0 2 15 0 1 12.1 43 |4
TKEERIE %2 2#% =4 76 89 20 0 0 2 0 0 Hokok 187 | =
TKEER B 2 24 BERE 100.0 449.1 5.6 0.0 36.3 581.0 0.0 51.1 Kook 1,223.1 |km
JKEERIE %2 3k J=R 24 74 80 39 1 1 0 11 65.0 230 |#&
TKEER 8 2 3k =21 17 180 52 59 0 0 0 8 Hokok 316 ||
JKEERE 2 3k izt 78.6 7233 409.4 363.2 220 235 0.0 38.7 Hokk 1,658.6 [km
TKEER B 2 44k [EEREE"T 8 6 8 1 0 0 0 2 7.1 25 [#
JKEERIE %2 4% =t 99 2 0 0 0 0 0 30 Hohok 131 &
TKEER B 2 41k Jitd 33.9 66.7 24.6 9.6 0.0 0.0 0.0 8.3 Hokk 143.2 |km
JKEERE 32 it [EHAHK 2 3 3 1 0 0 1 0 28 10 [
TKEER B 2 i (R 0 2 0 0 0 0 0 0 Hokok 2 (|
JKEERIE %2 ZDith  [EEEE 3.7 258 39.0 3.1 0.0 0.0 4.0 0.0 Hokk 75.5 |km
TKEER B 32 5 [EEREE"] 35 105 96 41 4 53 1 19 [ 100.0 354 4
TKEERIE %2 B A (%) 9.9 29.7 271 1.6 1.1 15.0 0.3 54 Hokok 100.0 | %
TKEER B 32 H =214 192 273 74 59 1 67 0 59 Kook 725 ||
JKEE 8 %2 i hick 216.2 1,282.3 488.2 375.9 58.3 7,554.4 4.0 352.7 Hohok 10,3320 [km
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%-3 A2 MEERHEE AERENOBEHERRUSEEONR(ZHEHEEY KIERIL)
AEEH AEEH AEEH AEEH AEEH AEEH AEEH AEEH

BIEIEER HRES i AIEER Eig BAKE g3t R Zoft  |8E (%)
"’maﬁ#‘aﬂ’ 1/4,000L1 E EEEGES 0 0 0 0 0 0.0
Zh S EREK 1/4,000L) o 0.0 0.0 0.0 0.0 0.0 ok
”"maé#ﬁ% 1/8,000LLE EEGES 0 0 0 0 0 0.0
Zh S EREK 1/8,000L) [kt 0.0 0.0 0.0 0.0 0.0 ok
"’¢5§#§%:><1 1/12,500LL E R 0 0 0 0 0 0.0
EHhEHEER X 1/12,500L) F i 0.0 0.0 0.0 0.0 0.0 Fokok
Wq:%ﬁ#sﬂi 1/16,000LL E EEEGES 0 0 0 0 0 0.0
1/16.00044 F [kt 0.0 0.0 0.0 0.0 0.0 bk

1/20,000L1 E EEGES 0 0 0 0 0 0.0
1/20,000LL.E Gk 0.0 0.0 0.0 0.0 0.0 ok

= mgé#ﬁ%: 1/20,000K % EEGES 0 0 0 0 0 0.0
= ¢5E#E%ZX1 1/20,000%5# i 0.0 0.0 0.0 0.0 0.0 Fokok
EhE RN b E @13 0.1~ 10om EEEGES 9 15 3 1 14 233
EhE R #h b B3 <t3%0.1~ 10cm g 7.968.4 228.7 351.0 426 0.2 1.094.0 Fokok
THEHEER 3 EEF <TA10.1~150m EEGES 14 18 7 0 26 43.1
”"EFEE#E%:M #h b EIFE 10,1~ 150m miE 28,2214 630.9 613.7 1,033.6 0.0 8,943.2 ook
EREEBRHX h_EE % T 15.1~200m [EEEEES 30 6 0 7 25.0
EHEEERHX i % s 15.1~200m i 17.866.0 6.168.0 383.6 2094.3 455.2 0.0 5,360.1 o
”"¢5§#ﬁ%:><1 h EEIF %20, 1omELE EELGE 3 4 1 0 2 238
EhEEERHX i F B F T 3£20. 1omEl b i 394.0 2,156.0 94.0 5587.8 0.0 625.5 o
EhEERH Z Ot [EEGES 12 3 0 6 5.7
EhEREH Z Dt k] 881.5 24323 888.3 20104 0.0 1,983.8 o
EhE RN I3 B 69 43 24 1 55 100.0
> JE (%) 13.1 8.2 4.6 0.2 104 Fohok
fikicd 55331, 3 116158 23307 107687 4@2 02 18,0066 ook

500LLF EEGES 14 66 2 2 1 243
5000 F ik g 159.0 21.3 236.8 04 04 Hohk
500U et 0.0 1,780.4 0.0 0.0 0.0 Fokok

1,000LLF EEGES 29 50 34 0 4 35.0
1,000LLF [k 613.7 1,385.9 624.2 499.3 0.0 246.3 bk
1,000L4F jict i3 s 0.0 331.0 0.0 0.0 0.0 Fhk

2,000LLF EEGES 0 0 0 0 0 0.0
20001 F ik g 0.0 0.0 0.0 0.0 00 Hokok
20001 F jiat i3 0.0 0.0 0.0 0.0 0.0 Fhk

2,500 F EEGES 46 19 0 0 9 37.2
25004 F [k 3,338.9 967.2 201.2 0.0 0.0 788.8 okk
25000 F et i3 X 0.0 0.0 0.0 0.0 0.0 Fhk

5,000 F EEGES 2 0 2 0 0 1.3
5000LL F ek 254 0.0 160.1 0.0 00 Fokok
50000 F jiat i3 0.0 0.0 0.0 0.0 0.0 Fhk

10,0001 F EEGES 0 0 0 0 0 1.1
10,0004 F [k 276.2 0.0 0.0 0.0 0.0 0.0 ook
10,0004 F jiat i3 X 0.0 0.0 0.0 0.0 0.0 Hohk

20,0004 F EEGES 0 0 0 0 0 0.0
20,0004 F i 0.0 0.0 0.0 0.0 0.0 Hokok
20,000LLF bzt 0.0 0.0 0.0 0.0 0.0 okok

20,000#8 EEGES 0 0 0 0 0 0.0
20,000#8 i 0.0 0.0 0.0 0.0 0.0 Hokok
bzt 0.0 0.0 0.0 0.0 0.0 okok

IEEGES 0 3 0 0 0 1.1
i 352.8 0.0 04 0.0 0.0 0.0 ok
bzt X 0.0 25 0.0 0.0 0.0 okok

JB A3 91 138 38 2 14 100.0
JE R (%) . 243 36.9 10.2 05 3.7 *ohk
[k 4,639.9 2,531.5 853.1 896.1 0.4 1,035.6 bk
Jictig 0.0 2,113.8 0.0 0.0 0.0 e
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